Satish chandra memorial school
Class 3
Chapter: Give and take
Topic: Multi — step word problem
Worksheet 16

Answer the following: -

Q.1 There are 228 tulips and 294 Rose’s in Kate’s garden. She picked 156 flowers. How many are
flowers are left in Kate’s garden?

Ans: -

Q.2 There were 246 balls on the playground 121 were soccer balls and 40 were basketballs. The rest
were tennis balls. How many were tennis balls?

Ans: -

Q.3 There are 4, 278 students in Class lll, 2,184 students in Class IV and 2,375 students in Class V in
the schools of a city. Find the total number of students reading in Classes Ill, IV and V. Among these
students 4,324 are girls. Find the number of students who are boys.

Ans: -

Q.4 This morning | had 90p. | spent 24p on a pencil and 34p on a notepad. How much do | now

have left?
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Ans: -



Q.5 A train starts from Ayton with 90 passengers. At Baytown 16 more passengers board the

train and 28 get off. How many passengers are now on the train?

Ans: -

Q.6 Today Sally started reading a book which has 750 pages. She read 193 pages this morning

and read 242 pages this afternoon. How many pages are left to read?

Ans: -

Q.7 Two months ago Bob's car travelled 375 miles. Last month it travelled 254 miles. How many

miles does he need to travel in it this month to make a total of 1000 miles?

Ans: -



Q.8 The Green Team have been planting trees. How many did they plant in total last week?

Their records show: Monday:41, Tuesday:27, Wednesday:36, Thursday:32 and Friday:24 trees

were planted-

Ans: -

Q.9 Three 3-digit numbers add up to 999. The first number is 358 and the second is 345.

Find the third number

Ans: -



Q.10 The lottery prize was £1000. Ruby decided to share it with family members as follows:

Mum: £150, Dad: £160, Gran: £120, Billy: £150 and Bobby: £150. How much was left for Ruby?

Ans: -



